













Calculating the Nash Equilibrium

$$\frac{\partial}{\partial g_i^*} g_i^* \sqrt{36 - g_i^* - G_{-i}^*} = 0$$

$$\Rightarrow \left(\frac{\partial}{\partial g_i^*} g_i^*\right) \sqrt{36 - g_i^* - G_{-i}^*} + g_i^* \left(\frac{\partial}{\partial g_i^*} \sqrt{36 - g_i^* - G_{-i}^*}\right) = 0$$

$$\Rightarrow \sqrt{36 - g_i^* - G_{-i}^*} - \frac{g_i^*}{2\sqrt{36 - g_i^* - G_{-i}^*}} = 0$$

$$\Rightarrow \sqrt{36 - g_i^* - G_{-i}^*} = \frac{g_i^*}{2\sqrt{36 - g_i^* - G_{-i}^*}}$$

$$\Rightarrow 2(36 - g_i^* - G_{-i}^*) = g_i^*$$

$$\Rightarrow 72 - 2g_i^* - 2G_{-i}^* = g_i^*$$

$$\Rightarrow 72 - 2G_{-i}^* = 3g_i^*$$

$$\Rightarrow g_i^* = 24 - \frac{2}{3}G_{-i}^*$$

Calculating the Nash Equilibrium

 $g_{1}^{*} = 24 - \frac{2}{3}(g_{2}^{*} + g_{3}^{*} + g_{4}^{*} + \dots + g_{n}^{*})$ $g_{2}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{3}^{*} + g_{4}^{*} + \dots + g_{n}^{*})$ $g_{3}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{4}^{*} + \dots + g_{n}^{*})$ \vdots $g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$

Could use Linear Programming but notice the symmetry in these equations. It turns out that:

$$g_1^* = g_2^* = \dots = g_n^*$$

If you don't believe me, try solving the 2 farmer case:

$$g_1^* = 24 - \frac{2}{3}g_2^*$$
$$g_2^* = 24 - \frac{2}{3}g_1^*$$

Calculating the Nash Equilibrium $g_1^* = 24 - \frac{2}{3}(g_2^* + g_3^* + g_4^* + \dots + g_n^*)$ Write $g^* = g_1^* = g_2^* = \dots = g_n^*$

$$g_{2}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{3}^{*} + g_{4}^{*} + \dots + g_{n}^{*})$$

$$g_{3}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{4}^{*} + \dots + g_{n}^{*})$$

$$\vdots$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{*} + g_{3}^{*} + \dots + g_{n-1}^{*})$$

$$g_{n}^{*} = 24 - \frac{2}{3}(g_{1}^{*} + g_{2}^{$$

10

9











